
►www.tmgindustrial.com 1/50 TOLL FREE: 1-877-761-2819

















33

35

37

39

40

41

46

48

34

36

38

42

43

44

45

47

2900mm

2090mm

1370mm

1890mm

2862mm

1851mm

2420mm

2484mm

773mm

719mm

924mm

502mm

369mm

1852mm

1900mm

1751mm

4

2

2

2

11

1

4

4

4

14

6

1

1

12

10

Picture

Qty

Part No.

Specification

PART LIST

Nameplate

9/52www.tmgindustrial.com TOLL FREE: 1-877-761-2819

15 1





PART LIST 

Part No. Picture Specification Qty 

65 

丘
1196mm 2 

66 七 2619mm 4 

67 
七 2780mm 2 

68 
。 ＼ 

＼ 
2025mm 2 

69 

/
932mm 1 

70 / 1996mm 2 

C72 

总 50*40*39 21 

S12 

卢 M5*20 1880 

S13 

卢 M5*50 15 

C20 

， 155*18*24 4 

M35 ＠ 35*0.5 2 

C12 

归 75*75*25 4 

L3 

＠
015*9.2 20 

L1A 勹 28*24*16.5 6 

S5 

｀） 
011*1.5 20 

S3 
＄ M5*12 28 

►www.tmgindustrial.com 11/52 TOLL FREE: 1-877-761-2819 



172*57

63*43

Ø3.2*11

M8*80

40*40*40

295*190

50

H13

S7

C14

UV3

SH1

S11

C73

LOGO

2

24

2

1

21

60

14140*150

Picture QtyPart No. Specification

PART LIST

100 1

101

1830*880mm

2180*880mm

SUNLIGHT PANELS

1

980M5*19S23

2

►www.tmgindustrial.com TOLL FREE: 1-877-761-2819 12/52 



ANALYSIS DIAGRAM 

►www.tmgindust『ial.com 13/52 TOLL FREE: 1-877-761-2819 





400

TYPE A1

33

33

33
2

S12
16

X 8

X 7

S12

TYPE A2

46

46
57

3704

46 2 1

57

S12

8

X 2

X 2

57

S12

46

46 100

TIPS:Use labels to mark installed components

for easy access.

INSTALLATION OF FRAMEWORK

NO.PART Qty
NO.

PART Qty

NO.PART Qty
NO.

PART Qty
NO.

PART Qty

33

33

TYPE A1 X 1

Nameplate

Make sure the nameplate is

visible inside the house.

15/52www.tmgindustrial.com TOLL FREE: 1-877-761-2819

400

S12

Nameplate

















70
8

S12
39

A1

A1

39
38

38

38

38

35

35

36

A1

57

57

50

50

50

37

42

43

41

2
0
0
0

8
9
0

S12

57

36

34

38

S12

32

39

39

As shown in the

figure,when installing

A3,support it with an

object with a length of

2900mm to prevent it

from falling and

deformation other

parts can be used

temporarily.If the

ground is not

hardened please put a

board under the

support to make it

level with foundation.

A3

2
9
0
0

TIPS:If you want to change

the door position to the

opposite wall, please refer

to page p50-51.

S11

50

39

57 343 141 142 1

2 2

3

C72

237

152S12

3635 124383

2C2024S12448

INSTALLATION OF FRAMEWORK

Support

Plank

2
9
0
0

C20
S12

A3A1

48

S12
A3

48

48

NO.PART Qty
NO.

PART Qty

NO.PART Qty
NO.

PART Qty NO.
PART Qty

NO.
PART Qty NO.

PART Qty NO.
PART Qty

23/52www.tmgindustrial.com TOLL FREE: 1-877-761-2819

A1 39

Nameplate

Make sure the nameplate is

visible inside the house.



















































ground electrode

ED

H

F

E

  ATTENTION: CUT OFF THE POWER BEFORE
OPERATION !

POWER-ON, THEN CONTROL THE
REMOTE CONTROL, SLOWLY INSERT THE
ROLLER DOOR INTO GR1 AND GR2.

L

firing line

null line

  ATTENTION:  110V

ASSEMBL V OF ROLLER DOOR 

►www.tmgindustrial.com 48/52 TOLL FREE: 1-877-761-2819 







INSTALLATION OF FRAMEWORK 

PART I NO. I Qty I PART I NO. I Qty I PART I NO. I Qty I PART I NO. I Qty 

亥 I 69 I 1 亥 I70| 2 |仁|68 I 2 伊 I S13 I 13

二/-----

►www.tmgindustrial.com 51/52 TOLL FREE: 1-877-761-2819 



INSTALLATION OF TRANSPARENT PANEL

Correct Demonstration

Error Demonstration

transparent panel 100

transparent panel 101

The blank space is where the transparent panels are installed.
Please install them according to the correct position. The two
transparent panels are stacked together. Incorrect installation
will cause water leakage. Please pay special attention.

transparent panel 100

transparent panel 101

Tip: After this step, please go
back to page 38 to continue
the installation.

►www.tmgindustrial.com 52/52 TOLL FREE: 1-877-761-2819 


